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EDUCATION — GENERAL
Paper : GE/CC-1
(Introduction to Education)
Full Marks : 65

Candidates are required to give their answers in their own words

as far as practicable.
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The figures in the margin indicate full marks.

1. Answer any three questions :

2.

3.

(a)
(b)
(c)
(d)

Explain the meaning of the term ‘Education’. Discuss the scope of Education.
Discuss the functions of an ideal teacher.

Discuss the role of school as an agency of education.

What is child-centric education? Explain the characteristics of child-centric education.

Answer any five questions :

(a)
(b)
(c)
(d)
(e)
()

What do you mean by socialistic aims of education?
Discuss the types of co-curricular activities.

Write any five characteristics of Project Method.
Mention the role of newspaper as mass media.
Write the characteristics of playway in education.

Discuss the five features of Montessori method of education.

Answer any five questions :

(a)
(b)
(c)
(d)
(e)
()

What are the different factors of education?
Mention two features of formal education.
Mention any two educational functions of state.
Write two differences between play and work.
Write two advantages of the Kindergarten method.
What is ‘Gift’ and ‘Occupation’?
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